) tracks vs normalized x?

recoToSim)

[{

[N o associated

ized x?

normai

track vs

0

[N of reci

track x?

berset

o
N
0
—
©
—
<
—
o
—
o
—
0
©
<
o
+ A
3 L
5 DR S S ]
— S e — - S
syoen aresidnp oney sxoex areandnp oney
I o
N <
- 00 X
— O
s
- © =
—
. <
—
- N
—
- o
—
- 0
- ©
- <
. N
L 5 H H i EE
S ) k) i) S 2
- - - o
ST syoel) axyey oney
I o
N <
00 X
— O
g
© =
—
A=
—
N
i
-{S
—
=100
-1©
=
da ;
L7
B3 o B f o <
o o o o o o
— — — — —
syoel ani
©
o c
N |5
o =
428 | 9
g
B S -
s =
— o
o
i [oV}
—
-jo
—
=10
-1© .
@
2
d< x
g
B¥ [V bt
3 ..
Lol PR MTTTTIE I ul i
o = - o <
o IS) © o o
I z — —
syoeln syoeln




	Contents
	Page 1


